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QUESTION 1

The common reason why an AP cannot obtain an IP address is (ABC) (Select 3 Answers).
A. The address pool is incorrectly configured.

B. The address pool is exhausted.

C. Intermediate network problems.

D. POE power failure.

Correct Answer: ABC

QUESTION 2

The correct statement about WDS is (Select 2 Answers)?

A. Connect two separate LAN segments through a wireless bridge and provide data transmission between them
B. WDS uses the 2.4GHz band as the bridge frequency band by default.

C. Scalability is good, and there is no need to lay new wired connections and deploy more APs

D. Huawei indoor AP does not support WDS function.

Correct Answer: AC

QUESTION 3

When did the initial application of the wireless network begin?
A. During a major war

B. During the Second World War

C. Late 20th century

D. After 2000

Correct Answer: B

QUESTION 4

There are four wireless STAs. Which workstations occupy the channel preferentially according to the following backoff
time parameters?

B.7
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C.4
D.6

Correct Answer: C

QUESTION 5
D. After passing, C. passing, after not following the following two-link backup networking, the description is incorrect.

A. Dual-link backup technology improves network reliability and ensures business stability in important nodes of the
network.

B. The standby AC should always be in the power-on state.

C. In the process of establishing an active/standby link between the AP and the active and standby ACs, the link
established first must be the primary link.

D. The network service configuration on the active and standby ACs must be consistent.

Correct Answer: C

H12-311 PDF Dumps H12-311 Practice Test H12-311 Exam Questions

H12-311 PDF Dumps | H12-311 Practice Test | H12-311 Exam Questions 3/3


https://www.passapply.com/h12-311.html
https://www.passapply.com/h12-311.html
https://www.passapply.com/h12-311.html
http://www.tcpdf.org
https://www.passapply.com/h12-311.html
https://www.passapply.com/h12-311.html
https://www.passapply.com/h12-311.html

